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At At this rate, how many mlles can the truck .
driver drive in one hour? i i

2. Russell runs % mlle m 5 minutes. At this

rate, how many mlles can he run in one
minute? KNE\\\S = Q-
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3. A small airplane flew 104 miles in 50
minutes. At this rate, how.manymiles ca

fly in one hour? (50 minutes =% hour)

4. DeAndre downloade@ = apps onto his tablet
in 12 seconds. Atthis rate,/how many apps
could he download in one minute?

(12 seconds =-= minute)
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5. In Lixue’s garden, the green pepper plants

grew 5 inches in % month. At this rate, haw

many feet can they grow in one month? (Let
5 \
es = — fool) YU%

12
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-
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6. Thunder from a bolt of lightning travels 11)
1

mile in 5 second. At ’[hIS rate, how many

miles can it travel in one second?

A) — \ = \ g~ \
S

v T irTari
B) —

S ¢
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1. The average sneeze can travel %— mile in 3

seconds. At this rate, how far can it travelin

‘ 1
one minute? (3 seconds = 20™ mmute)

8. Multiselect Anita is making headbands for

her softball team,She needs a total of =
yard of fabric. Select all types of fabric that
cost less than $8 per yard. — Bll W

8 -
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cuttun Tntal Cost L\ % B | -
Fabric N |
‘/ﬁﬂﬂl‘!El for -E Yard (%) 5 ‘..") 2 2. b
(Aeece Cotton 5.54 (th‘ (9 2Y2% \b
Flannel 2.62 - — - |
terry cloth
Fleece 4.27 5 \ \‘o
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:‘.:l‘::-'l f"l".l Scan mo
For each situation, complete the table given. Does the situation represent a proportional

rekAli2 You

https://www.you

m byl g b Ao dehdal g SN aligally (ol gl g a) il Sl gl g ad) e é—‘@(— https://linktr.ee/mrtarekali
1

2. com/@MrTa

relationship? Explain.

1. The cost of a school lunch is $2.50. "M r | acay -
N3 Q%o

Lunches Bought 1 2 3 4

Toul Cost () ISR 2R %50- 9 5o

tuncres oo IERMNETIIETINE H')((;.-BO:\O
Total Cost ($) 25 |58 |75 | WS
1

A
B Lunches Bought 2 3 4
Total Cost ($) 250 5 00
c Lunches Bought B 2 4
Total Cost ($) 2 5 10
2 4
D

Lunches Bought
Total Cost ($)

2.3@_-i 9.26~ 7.25 L1D,;5| :
——— —— .

2. Anna walks her dog at a constant rate of
12 blocks in 8 minutes.

N Ipleigad-ibld ol 12 24 36 -48
Vi rarel
Number of Minutes 3

Tl 2 24 36 48 :;l\" % g \b

14 16 19| 27 pe
RT3 w0 | QY Q- !N
Number of Minutes SIS L NEREL SR ¥ i

hil-:mber- nf-l.ﬂi-cn:k-s_._ 12 _ 24 ! ?3:'5 48 cz/
— Miﬁﬁtes Ffd ~ 48 108 192 H * % o &

B Number of Blocks 12 24 36 48
M dl ey 55 75 95 115
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3. Fun Center rents popcorn machines for $20
&E_e_[huur In addition to the hourly r:hargn,,
There is a rental fee of $35. (Example 2)7/ A

ﬂ__-

fmrtarekali @

“?

2 3 4

1
H 145 45 W\S

" 24

Number of Blocks b3 36 48

Number of Minutes [IRESER N IR
Number of Blocks 12 24 36 48 (2_0
Number of Minutes 16 | 24 | 32

Number of Blocks 24
Number of MlnutES 24 48

Number of Blocks
Number AL 55 75
4. Jean has $280 in her savings account.

Starting next week, shé will deposit $30iin
her account gg_week.

Weeks 4
Savings ($) 3\0 ;”lo g’_LO

RITTEED) oot e sk (i SN gl y (o g gl gy gy 20 ﬁ@e:*- https://link

1 2 3 ':i
s 310 340 370 400
E 1 | 2| 3| 4
300 330 360 390
ek All 3 | 4
2802 310 340 370
1 2 3 4
280 340 370 400
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5. Rocko paid $12.50 for 25 game tickets.
_ouisa paid $17.50 for 35 game tickets
IS the constant of proportlonallty?

. B _C,GS\_

and, in 49 minutes, iced 28 cupcakes. What _
is the constant of proportlanallty‘? E’ﬁ

YWAn\ES | 40

W 17 e

B) 9.1  Wed \focnan =
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7 The table shows the amount of dietary fibe
in bananas. Use the table to find the
constant of proportionality.

sICIAS ()]l 93 186 279 372

ity —— - - - —- i ——

3ananas MY 6 9 12

A3

- ﬁéqy(. https://linktr.ee/mrtarekali @
, .

A) 1.75
B) 9.1
C) 0.50

- 8. Open Response The table shows the
distance traveled by a runner. Use the table
to find the constant of proportionality.

o

be.com/@MrTarekAli2 Yuum Byl g o Jab) iy AN Algally (ool ghy o) il gy i 2

MSERCHInIE 4.55 13.65 22.75 31.85-.
Time (h) 05' 15 25 35
& - o5

ok 3%
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9. The table shows the amount a restaurant is donating to a
local school based on various dinner bills. Is the amount . ‘
of the donation proportionaltd the dinner bill? If so, what Dinner B'”_{:ﬂ | Donal
would be the donation fog a dinner bill of $50? If net} * | = = 25 | | 4,
explain. i ) ' L (3{} e (B

5o - NBo zod0 4R (8
0:30-5.)0- «90 ¥5 (oo o7

Scan me

Donations

ee/mrtarekali

10. The table shows the cost to maitvafious [Btfefs'basee'on!
different weights. Is the cost of mailing,a letter. proportional _
to the weight? If so, what would be the cost of mailing a Weight (oz) Cost ($)
1

6-ounce letter? If not, explain.

0-6%—- G.q‘:l:u.{_-:‘.]
A) 0.18,yes  5.99 0.3 202 ara?

B) %,yes 3 0.aq = 0.l
C) 0.68, yes
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. The cost of pumpkins is shown in the table.
Determine whether the cost of a pumpkin is
proportional to the number bought by
graphing the relationship on the coordinate
plane. Explain.

0/1[2]|3]|4
848 12 16

2. The table shows temperatures in degrees
Celsius and their equivalent tem tures in
degrees Fahrenheit. Determine.whether the, .

temperature in degrees Fahrenheit is = /~
proportional to the temperature in‘degrees
Celsius by graphing the relationship on the
coordinate plane. Explain.

A) proportional

| B l»' { proportional

Celsius (degrees) 015 110 15*20.__* bor
N e Sl 32 41 50 59 68'__"'

November 08, 2023

2024 w2y, S

H LMY T

Cost of Pumpkins

2 4 6 8
Pumpkins

® Qass  (040)
2) SRR 9\‘06—

Temperature
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3 The total cost of nnhne streammg IS
proportional to the number of months. What
is the constant of proportionality? A4, T

Online Streaming of TV

https://linktr.ee/mrtarekali @
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Shows/Movies
! : o siichad

cof 411 A) 20

#50‘ ofrek-Al B) 5
% 40|

i =
i § 0 C)15
q 20 HF———+—
3 10 -+———+— D)3
|
3
!
z 4. Open Response The cost per slice of pizza Pizza Slices COSt
% is proportional to the numberofshcesas iy | A
1 shown in the graph. Whatdnﬂqep@mts & 10 | 2
% (0, 0) and (1, 2) represent?
i %3 o Hwes al 6
(90) 4 o (& g 4
H -
-
> % O \ MG '
5 are k-
E (\2) st 2% (oS
s
®

e o, U) means that 0 slices cost $0. —The point (1,

2] means that 1 slice costs S2

B) The point (0,0) means that 0 shieesicost $0. - The point (1, 2
e point (0, 0) means that 0 slices cost $1. - The point (1, 2

https://www.youtube.gc

means that 2 slice costs $1.

meamr that 2slice costs $2.

D) The point (U, {]j means that 1 slices cost §0.-The point ( : 2) means that 1 slice costs $1.
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6. @Identlfy Repeated Reasoning Supp
a relationship is proportional and the poin
(4, 10) lies on the graph of the proportlonai
relationship. Name another point, other

(O, 0), that lies on the graph of the line.

AN5.10) A o) Nin o
612)  pA:19 = {9 o)
5 /

C) (3,6

7. @ Make an Argument Determine if a line
can have a constant rate and not be
proportional. Write an argument to defend
your response.

—

For example, - A
renting a boat where there is an |n|t|ai fee and then ac
hour would have a constant rate but not pass through
the origin.

t per

m/@MrTarekAli2 You [T svish o sl i SO0 ghpaly o sy o) st i g3 cm_.e-'-ﬂé** https://linktr.ee/mrtarekali @
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8 @ Find the Error Karl said the pomt (1, 1)
represents the constant of proportionality
the graph shown. Find his error and correct it.

- The graph of the line is not

proportional

=1 =¥ pecause it does not pass through the
~ origin so the graph cannot have a

constant of proportionality.

9. Create The graph of a proportional
relationship is shown.®Describe a real-world
situation that could be represented by the
graph. Be sure to include the meaning of
the constant of proportionality.

ConS’\.m’I —

m/@MrTarekAli2 YOU ([T st e il (g S hpally (ol ol il g m:{#'ﬂ@ﬂ'% https://linktr.ee/mrtarekali @

The graph shows the number of feet per yard.
e constant of proportionality is 3, so, for every
LA E L Lyard there are 3 feet.
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